
Page 12-12 2009-2011  Villager 6 and 8 Gasoline and Electric Vehicles  Illustrated Parts List

G

E

12

D

000573-004

12

12

6

12

5

4

102

118

3 97



E

G

12

2009-2011  Villager 6 and 8 Gasoline and Electric Vehicles  Illustrated Parts List Page 12-13

ITEM PART NO. DESCRIPTION

1    2    3    4

QTY

D

FORWARD/REVERSE SHIFTER CABLE – VILLAGER 8

1 N/A Installation, Shifter, FNR (includes items 2 through 12) ............................................................... 1
2 1012333 Joint, #10-32 Ball ................................................................................................................................... 1
3 101963401 Locknut, 5/16-18 Hex Flange ........................................................................................................... 3
4 102376001 Knob, Fnr ................................................................................................................................................. 1
5 103295101 Brkt, Spt, Cable End, Fnr ..................................................................................................................... 1
6 103295204 Cable, Trans, Ball End, 3225mm ....................................................................................................... 1
7 1241 Washer, 5/16 Type A Flat .................................................................................................................... 3
8 304 Screw, 1/4-20 X 1.0 Hex-Head Cap ................................................................................................. 2
9 7173 Screw, 5/16-18 X 0.75 Hex-Head Cap ............................................................................................ 3

10 7893 Nut, #10-32 Hex .................................................................................................................................... 1
11 8233 Locknut, 1/4-20 Nylon Insert ............................................................................................................ 2
12 8639 Tie Wrap, 11" Nylon ............................................................................................................................. 3


